Tableaux des Puissances de Dix (B)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (B) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,08 0,0008 0,8 0,008
55 4,4 0,044 44 0,44
67 5,36 0,0536 53,6 0,536
14 1,12 0,0112 11,2 0,112
46 3,68 0,0368 36,8 0,368
79 6,32 0,0632 63,2 0,632
X 0,004 0,0004 0,4 0,04
16 0,064 0,0064 6,4 0,64
76 0,304 0,0304 30,4 3,04
15 0,06 0,006 6 0,6
92 0,368 0,0368 36,8 3,68
33 0,132 0,0132 13,2 1,32
X 0,08 0,8 0,0008 0,008
40 3,2 32 0,032 0,32
39 3,12 31,2 0,0312 0,312
5 0,4 4 0,004 0,04
80 6,4 64 0,064 0,64
71 5,68 56,8 0,0568 0,568
X 0,05 0,005 0,5 0,0005
91 4,55 0,455 45,5 0,0455
6 0,3 0,03 3 0,003
60 3 0,3 30 0,03
65 3,25 0,325 32,5 0,0325
68 3,4 0,34 34 0,034
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